
(a) Multiple computer machines are connected 
in a LAN through a cable and 
(i) Modem 
(ii) Special wire 
(iii) Telephone line 
(iv) Interface card 

(b) The full form of 
networks is 
	SNMP in computer 

(i) 
(ii) 
(iii) 
(iv) 
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Note : There are two sections in this paper, namely, 
Section A and Section B. All questions in 
Section A are compulsory. From Section B, 
answer any three questions. 

SECTION A 

1. Answer the following objective type questions by 
selecting one best choice from the given choices. 
Each question carries 2 marks. 10x2=20 



(c) In which of the following parts of a computer 
is RAM located ? 

(i) External drive 

(ii) Motherboard 

(iii) CPU 

(iv) None of the above 

(d) What is the full form of URL ? 

(i) Uniform Resource Locator 

(ii) Uniform Resource Link 

(iii) Uniform Registration Location 

(iv) Unified Registration Link 

(e) Which of the following is mainly used to 
make computer chips ? 

(i) Copper 

(ii) Steel 

(iii) Silicon 

(iv) Sand 

(0 GUI stands for 

(i) Graphical User Interface 

(ii) Graphical Used Intercard 

(iii) Graphical User Instrument 

(iv) Graphical Unified Instrument 
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(g) Which of the following is known as the first 
supercomputer of India ? 
(i) SAGA 220 
(ii) PARAM 8000 

(iii) RAMA 220 

(iv) ENIAC 

(h) Which of the following is an object oriented 
language ? 

(i) 	C 

(ii) C++ 

(iii) HTML 

(iv) Assembly language 

(i) Select the odd-one-out. 

(i) CD 

(ii) Floppy disk 

(iii) BIOS 

(iv) Pen drive 

What operation(s) is/are performed by 
RAM? 

(i) Read 

(ii) Write 

(iii) Read and write 

(iv) Depends on type of computer 
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2. (a) Compare Distributed systems and 

Real-time systems. 	 5 

(b) What is Packet switching ? How is it 

different from Message switching ? 	 5 

3. (a) What is X.25 ? Explain the features of X.25. 	5 

(b) List the features of OOPS. 	 5 
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SECTION B 

Note : Answer any three questions from the following. 

4. (a) What are the steps involved in software 

analysis ? How are these steps useful in 

software development ? 
	

10 

(b) What is Multitasking ? Compare between 

Multitasking and Multiprogramming. 	10 

5. (a) What is Instruction Pipelining ? Explain 

the working of instruction pipelining in a 

RISC system. 	 10 

(b) Explain the prototyping model and its 

relative advantages and disadvantages. 	10 

6. (a) Compare between sequential and direct 

access file processing. 	 10 

(b) Explain how the CPU and memory work 

together for data processing. 	 10 
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7. (a) List and explain different types of magnetic 

disks. Also differentiate between magnetic 

and optical disks. 10 

(b) What is OSI model in computer networks ? 

Explain the features of different layers of the 

OSI model. 10 
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